Discovery 2 Module 7 Exam Picture Descriptions
Refer to the exhibit. Host1 is in the process of setting up a TCP session with Host2.
Diagram depicts a network of 2 hosts and 2 routers. Host 1 connects to router RTA. RTA connects to RTB, which connects to Host 2.

Refer to the exhibit. The PC is requesting HTTP data from the server.
Diagram depicts a network of 2 hosts and 2 routers. PC 1 with IP 192.168.1.17/24 connects to router RTA. RTA connects to RTB, which connects to a server with IP 192.168.2.39/24.

Refer to the exhibit. Which two statements are true
Diagram depicts the contents of a Microsoft HOSTS file.
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